
POST CLASS NOTES

Quadratic Equations



Topics



Standard Form

a𝑥2 + b𝑥 +c = 0

a ≠ 0

P(𝑥) = (𝑥 -2)(𝑥 -2)
𝑥 = 2 & 2

(𝑥 -2)(𝑥 -2)= 0
𝑥 = 2 & 2

(𝑥-2)(𝑥 -2)=0
𝑥 = 2 



Methods to Solve  
Quadratic Equations

×

9𝑥2 - 3𝑥 - 2 = 0.

9𝑥2 - 6𝑥 + 3𝑥 - 2 = 0.

3𝑥(3𝑥 – 2) + 1(3𝑥 – 2) = 0.

(3𝑥 – 2) (3𝑥 +1) = 0.

𝑥 = 
2

3
or 𝑥 = -

2

3

(3𝑥 – 2) (3𝑥 + 1) = 0

a𝑥2 + b𝑥 + c = 0.
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𝑥𝟐 + 𝑏𝑥 = 0
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a𝑥 2 + b𝑥 +c = 0

=
−𝑏 ± 𝑏2 − 4a𝑐

2a

b 2 - 4ac ≥ 0

𝑥 =
−𝑏 + 𝑏2 − 4a𝑐

2a
𝑥 =

−𝑏 − 𝑏2 − 4a𝑐

2a

“𝑏2 – 4a𝑐” .

𝒃2 – 4a𝒄 < 0𝒃2 – 4a𝒄 > 0 𝒃2 – 4a𝒄 = 0

−𝑏 − 𝐷

2a
−𝑏 + 𝐷
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2a

−𝑏
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Mind Map


